Answer questions 9 to 12 from set B or C E H
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o Calculation at Chesswood _.

Number Line inchunks

CHESSWOOD

b6 +8 =

Use a number
line to do this.

What jumps of & can you make on
the number line towards 562
5 x 8 = 40 would be good!

Now a jump of 2 x & = 16
would take you to 56.

0 40 56 3

Add5and 2 = 7.

Year 3

) Three friends equally
share 42 sweets.
How many do they
have each?

D Four children sit at
each table. How
many tables are
needed for 52
children?

@ Seventy-four apples
are shared equally

between two barrels.

How many apples
are there in each
barrel?

€0 How many £5 notes
make £957

@ One dose of medicine
is 10ml. A bottle holds
200 ml. How many
doses does it hold?

D Eight people can sit on
one row of chairs. How
many rows are needed
for 104 people?

@ A party of 162 children
is divided equally
between three coaches.
How many children are
in each coach?

€D Potatoes are sold in
packs of 4. How many
packs can be made
from 148 potatoes?


https://youtu.be/e5QA54kAG1k
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